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[ () Question vnber | oto § qre very short answer
: guestions air! carrve 1 mark each. :
(i) Cuestion aumber 9 10 1§ are short answer
questions aind carmv 2 marks each.
; o Question ymiber 19 10 27 are also short answer
k4 questions and carry 3 marks each.
, ;
{
il

Guestion number 28 10 30 are long answer
yitesiiens and carrv 5 marks each.

'. Which Ig
~  physisorf
S P

K Arrange ihe lollowing compounds in increasing
order of reactivily towards Lucas reagent :
CH,CH,OH ., CH,CH(OH)CHj,

(ML) (oM 1

ST CTTEM

—_—
]
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CH,CH,OH, CH,CH(OH)CH,,
(CHy), C(OH)

Which compound is produced when ethanal is
~ heated with dilute NaOH solution ? ]

3"“'_47’[ SIF A NaOF TR e ﬁrﬁmr— /@1
ivn =9 :

Wrile one chemical test to distinguish between
- methylamine and dimethylamine. 1

FafRe «En Wi SiEfEe anizie e ek
AT Gl AR (& B

6. Mention the hydrolysis products of sucrose. |
TG ST o0 GeolH (A1 TRPRRA

TRl T4t

7 ‘What are the monomers of Bakelite ?

1
ArARpa S AARTE & [
22T-CHEM (3] P

9.

10

2 TACHEM, (4]

What is the composition of tincture of iodine 7
|

=

DegE. =@ =n femg Mxgfs fFe

ow many atoms can be assigned to its unit cell
if an element forms (i) a body centered cubic

(bee) cell and (i1) a face centered cubic (fce) cell ?
Show by calculation. 2

G A (i) <D (BT TR GRIY (bee) DN
(i) OB SPTEFT TRE (PI (foc) GBI I (FITS
TEIEGITE <m@se A =R e st F=1 e

A compound forms hexagonal close packed (hep)
structure. What is the total number of voids in
0-5S mol of 11 ? How many of these are tetrahedral
void ? : 2

Bt ein e sae Fag sRgRIE (hep) SioeR 7R
FA G EIBE 05 mol S YI06 eIl 5 e ¢

Or / W9

Copper crystallises ml'o a fee lattice. Its edge
lcnath is 2-61x 10 %cm. Calculate the dcn%uy
of copper. (at mass of copper =63.5,:

N = 6-022 1072 mol™). 2

écm k.



T e Crilb 519w <H | ZAA 4 (e i 07l

T 3

F 361 x 10 8 om, FeET qeyg sio @t | (FEIRS
AR ST = 63 5u; N,=6-022x 1023/11al_l)-

11, State Henry’s law and mention its two important
" applications. 2

AR o ot i 2 ot iRl eftalel Brae Al |

12. ~Calculate the equilibrium constant of the
following reaction at 298 K.

Cu(s)+2A4g" (ag) — Cu**(aq) +24g(s)
Given, EZ,'=0-46V 2

farars RfEa M 298K Tl AN &5 T
il 4 — :

Cu{s)+24g" (aq) > Cu**(aq) +24g(s)
il g, E2, =0-46V

Cr / 98K

The conductivity of 0-20 M solution of KCI at

298K is 0-0248Scm™ ; Calculate its molar
conductivity. 2

MT-CHEM (5] 5% P.T.O

208K TES (20 M siipe KCI @99 AfE2TTSl
0-024% Sem™ | TR e ARQIRS! A= T4

Both Civ aud Zn have completely filled 3d atomic
orbital  Cu is considered as transition element
but Zri 15 nel. Explain. 2
Cu 3% Zn 7 2fSUGIta 3d Awiaks ARG
BreaGel i) SRS AT | FARD AP (T
fasieet far=ml 774t 28 SIFRITS f&Re AENH e (e
Biel s <= | gt 00

4. (a) MNae the isomerism shown by the following
pair of coordination compounds —-

[ o NE1y) Br] 50, and [Co(NE) 50, | Br
1

et foran SR (e CAICE (RSN IS
A —

[ Col NiTy), Br| SO, o [Co(NrT3) 50,8

(h) Give one example of a co-ordination
compound which 15 nsed in medicine. |

a2iir AARETE AR TE @bl A (FieE
Tlmae )
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,('é;) ldentify A and B in the following :

Q_B’. iy Mg dry ether A HA0 s B
oS A 9% B foAre 31

C B My SRR,y 50

>

(b} Write the structure of the following

compound R o]
2-chloro-3-methylpentane

A ST e B T B B s R = Yy
2T 3BT |

Complete the following reactions :
cl

(i) @ o C[{; coci anhydrous /IICIL_}

OH

(i) @ FSeE--L3 2

T Rifeeamam 7l w1 —
Cl

|
(i) @ + CpL T aE Al

P.T.O

i {508~

Differentisic the following pairs of polymers
bascd on the property mentioned against each :
(i) Novoilac and Bakelite (structure)
i)

Buna -§ and Terylene (intermolecular force
of atiraction).

HIEERS S

(i) addition polymer

(i) comdensation polymer. B
oA, Anee Sl
(i) GEIsiTIE ARl S
(i) e IEAGN (s
2LTCHEM i8] Caittd.
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Name one chemical responsible {or the
antiseptic property of dettol. 1
(OB Afsilearas f (el IFTNTE W) @I
s

Name one substance that can act both as
analgesic as well as antipyretic. 1
@RS oiF gritaes gk 7 #&57 2[l
B w59 7 feran

A solution of sucrose (molecular mass 342 w) is

prepared by dissolving 6-84 ¢ in 100 g of water
at 298K

()

(ii)

(iii)

Calculate the boiling point of the solution.
(K}, for water, 0-52K kgmol™)- l

Calculate the freezing point of the solution
(K, for water, 1.86 K kgmol™).
]

Calculate the osmotic pressure of the
solution at 298K (Densily of water at 298K

=]gmk ) 1

P.T.O

(aj

J2V-CHEM

(i1l

e ER D ) kg W et Ha e
[

TAGI GHRS jel] 3] |
(oI K, 39 =0-52K kgmol ™)

gL

R stemr <=
(I K, 319 =1-86 K kgmol ™)

298K TS GBI AR Biel siefeT] 7= |
(298K Tw01S “IINF w9 = 1g mL )

Or / =7

Boiling point of water at 750 imun of
FHg is 99.63°C. How much sucrose
{molecular mass 342u) is to be added
to 500 g of water such that it boils at
100 C 7 Molal clevation boiling
point constant, (K,) for walcr is
0.5 K ke mel ™. 2

750 mm Hg SIS NIQ Toeie :
99-63 €. 500g NS A <
545 (ST ST 342 1) @ SRE TR
oemItaH 100°C 3379 ?[@q TS :@Wf%‘r
T F9 (K,) @ 0452 K kg ol
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(i) 2-5g ethanoic acid (CH,COOH) is
dissolved in 75g benzene. Calculate
the molality of the solution. 1

(molecular mass of CH;COOH = 60u)

2-5g 2AMRRs afgw (CH;COOH) 75¢
@SS TG 4| 2 | TG sr"TfﬁiE‘
STerAl <54 |

(CH,COOH w3 60u)

A current of 1-504 was passed through an

electrolytic cell containing AgNO, solution
with inert clectrodes. The mass of silver
deposited in cathode was 1-50g. How'long
did the current flow ?

(Atomic mass of Ag=108u,
1F=96500C). 2

fifgra 2raees s =i 3R 9GOl Ryfes e
W AgNO, TR TEm 1-504 Rupesrrz

BifeTs 1 5T | (oS Gl (214t Tl oif ¥ -

=1 1-50g | I 90ae i Rgeers vifers
4] T=feE?

(Ag¥ ~IR=ieli® ©F 108u, 1F =96500C).

P.T.O

22T-CHEM (12]

(0]

(0)

<siven the Stndard électrode potential value
of come melals

//\ =293V, Ag*[Ag=0.80V,
a /H'g_:z 0-79V, Mg** [Mg=-2-3TV,
M = 0740
Avrange these metals in their increasing
order of reducing power. A8

s 2ol BreR e feira e fan

L oY, de
* 23 Fa S

$3 i { f‘ v {3 RH) V
9V, mw“ [Mg =237V,

e el] Y ge

[oline shope-selective catalysis. Give an
Mo ol such catalyst. 1
feraftgetirs) opbw fafeme soey fovar
e R R fﬁfﬂl

1;“._-,.33,1,.{,;13 whut s obsorvid when

(v An clectrstyle is added to hydrated
tPI'UC oxide sol.

(ii)  direct electric current is passed thr. ough
colloidal sol. 2

s

Contd.
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& elR=es z, R v —
(t)

G (FRT SRS 5 w5 @6 e
facsiy cast wsal =

(ii) TG e TS eIz bifers 4
27
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22, Explain the role of the following in the processes
mentioned ;

(@) Silica in the extraction of copper.

(b) Cryolite in the metallurgy of aluminium.

(c)

Depressant in the froth floatation process.
1+1+1=3

L oS
(%)

() How is ‘cast iron” different from pig iron »
|
221-CHEM [13] s
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(c)

h)

. (a)

METHT
sl

LR h";
' il e
hy ate they §9 mewem ] 1

i, !i'\‘l"- [h 2} b“il‘ljd‘“‘i Fé[nnqnﬂh\ FiyEs

e fitd i

i i T e
Lirne vie meln] which i fefined By vab
sl mtthod 7 !
Tt aiERe iRe WY Sikead Mo s 52

iEa R e Efos s @RI 9T

TS 4] (YRS W foral | (REE 9
Sws e

T DA AR I I LIP G5 AR

Write chemical equations for the following
Drocesses ¢

(i) Chlorine is passed through hot and
concentrated solution of sodium
hydroxide. ]

¢ii) Orthophosphorous acid is heated. 1

Meontion two uses of H,80,. 1

s i AT APTER RRe

G s e N N wRydite we

Aa FRA IR GifFTS 4t 77

114] Contd.



(1) S TrTaE afxe Ted w4 77 |
b)) H,80, afewea 751 qazs el 4 |

24, Compare the chemistry of Actinoids with that of
/ the Lanthanoids with special reference to
(1)  electronic configuration

(11)  oxidation state

(iii) atomic and ionic sizes. “1+1+1=3

s ) . b
(@) zn** salts are colourless while Cu?* salts
arc coloured. Give reason. 1

Zn*" TR OB SRS Cy?? STAR
TG | e ACT |

271-CHEM [158] P.T.0

ko Ceniplete e Tollnwing redelion eguabipns

-
¢ o~
: 34 G Ny TN
7 T e R e M R e
g MEO b Fe a4 fr ot e
s TARETATPY SR el o

() CnOy +Sn™ +H" —

(i)  MnO, + Fe*t + HY —

Write ¢ zeneral method for the preparation of
the following class of compeunds with necessary

chemical cquations :

(i) Patniary alcohot

(2 Phnol

rc) Tiher 14-14+1=3
AT ARG FERER AR TS ) dE
Rz arEBe Alalad e Yers e

o8 eS| e o
La) i) EE 23
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26.  (a)

(h)

S T )

(b)’
7 -acids 7 Give one example of each. 2

il

2W1-CHEM [17]

Complete and name (he following reactions :

2
(1) RNH, + CHCL, + KOH ;,, ——

(il)  RCONH, + Br, + NaOH ——

O%T Tl fiferat w51 1s)ef 2wt i foferm IR
T foen

(1) RNH, + CHCL, + KOH,,,~—»

(i) RCONI, + Bry + NaOH —»

Give reasons why the aromatic amines are
weaker bases than aliphatic amines. [

ARG @I TS GRS qwiEe
YT SEAP | BlEe weefian

What do you mean by Zwitter jon |

FAM =1 A GEBA AR IR 5 gan

What are essential and non-essential aming

srifazpl orE SEN-SREER aimafy
sifefas B Gnsas Tl

P.L.Q

28, (al

(b)

22T-CHEM

ti.c rate couslant of a reaction is
107 min~'. What is the order ol the
H;'.IC[IU['J / |

< fafermm oifs o W= 3%x10° min !
FITFCB T =heli 2

The coucentration of a solutjon having
concentration 0-24 A/ is reduced to 0-12 M
i 10 hours and 0-06 M in 20 howurs. What
is the rate constant of the reaction ? Jvs

90| T SGS| 22N 10 FHIT A6 0-24 M <
210012 M T I 20 T5/9 7116w aliGe] Bl
0-06AL 231

FiFansR ifS s T ﬁﬁm’?

A reaction, SO,Cl, —— SO, + Cl, is first
order reaction with half life peilod

3-15%10% 5 at 320°C. What percentage of
S5 Cl, would be decomposed on heating

at 320° C for 90 minutes ? 3
50,Cl, —— SO, + Cl, REFAT! @51 22w
@ fAfEEm 320° C Twere RIGH0R adeas
T 3-15%10% 51 320°C Twors Teg TR
90 fAifE+rmE live Wosdl e els SO, CL
farmfers 292
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(h)
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For the reaction,

4]\‘.'[_;} 4’50:‘)4]\/0"‘6[:[201
The rate of of NO is
36107 mol ['s™'. Caleulate the rate of
disappearance of NH,and the rate of
formation of H,0. 2

e Bisnse
‘l f\i[,{3 "‘ 502——)‘4NO+6]_[203
NO 3 Besim=a 313 3.6x 10 3 mol L5~ |

FiEFantre N, 3 ERE 2/ 9 4,0 =
DA TR sleH] G | '

formation

]

A certain recaction is 50% complete in
20 minutes at 300K and the same reaction
is again 50% complete in 5 minutes at 350K
Calculate the activation energy if the
reaction is of [irst order. 3

20 fiifes TS, 300K Swors RIEF <R 50%
Hesjef 3| Dl FfeFl 350K TGOS 50%
5 fafis el =3 | R e 1 2,

R A =i sl 30|

119] P.T.0O

29,

Answer the following ¢

Nils|

5

v fiRIaee Sae a1

(a)  Why I,0 1s a liquid whereas /7, S is gas at
room temperature ? S
AN TWSIS AN ( £,0) Gt RIS S
(1% =P 2 :

(h)  Arrange the following in increasing order

" ofacid ¢trength : I
oee s ofges Skelr g wie
AT
HCLy HI, HBrHE

(c)  Complete the following equation : Ji
TETA FRASAETH! Tl

Ne Ty 4 [{; Qe
‘1 Explain the bleaching action of chlorine.
2
FRrm [Fage R Al w1
22T-CHEM [20] Contil



Given reasons -

T wAR

(a)

(h)

(c)

(d)

V)M

Or / ey

than that of El
Clr 7 e £, 7 9

Concentrated nitric acid
passive.

renders aluminium
1

Mo G afRrs gefifmm g Mg $E)

Draw the structure of XeOF,. 1
XeOF, (RITA o7 LS S |

Complete the following chemical reaction
cquations : 2
(i) P, + NaOH + H,0—— _

(ii) 1 (ag) + H,0()+0s(g)——

Sers fal amEtee Rfama AReIe 1ot sy
BN

i) P+ NaOH+ H,0—>
fitr T e+ 11,0(1) +04(g)

}

(21 I’..I.O

(h)

22T-CHEM

Hew will you convert the following ? Give
equations only. 1+1=2

s [WAER (M RS a1 e
ERIRECRTRE

(z,;. Benzene 1o acelophenone.
(ST #Rl e T |

(ii) Propene to acetone.
sfvmT o @fga

Au organic compound (A4) (:molccular
formula, C,H;O0,) was hydrolysed with
ditute H,50, to give a carboxylic acid (B) .
and alcohol (C). Oxidation of (C) with
chiomic acid produced (B). Write possible
structures of (A), (B) and (C) and give their
TUPAC name. Write the chemical equations
involved in the process. TRl 3

51 (@ (T () SRS ATGTS T, C, 1,0, |
@it (4) ¥ H,S0,7 @ SeReaEs wfkce
57 PfeeTE BT (B) il IBi e R (C)
B o) FER GRS 'R (A9 (C) e
= () 8Fe 281 QT (4), (B) 9= (C) 1
e ofgwea i FRSY TUPAC =i forar
G RETES GiGs AR ARFEER B |
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o ey Bt (A X (CyH,O)F Sl o It Bt ¢t

]
(a) Giv Y (CaI1,Q) ﬁob‘]ﬂﬁﬂ TXkﬂ (@"«T"ﬁlﬁﬁr [

Ve one example of each of the following
reactions : 1+1=2

Ot 1 R afomic giire S
ot

\,(Z')/Clemmcnscn reduction. !
fRpCCes et |

(i)~ Cannizzaro reaction.

Jifeie’ R[iEm

(b) A compound X (C,H,0) on oxidation gives
Y (CoH4O,). ‘X' undergoes haloform
reaction. On treatment with HCN, ‘X forms

5 obAssam.in
a product ‘Z’ which on hydrolysis gives : ; Downloaded from J .

2-Hydroxypropanoic acid.

(i) 1_cllentify X, Yand Zand give their name

and structure.

(i) Wit the equations of the reactions

gm,-olved. ' 3

) PT.O
2T.CHEM (23]
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